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6.2 Law of Cosines

Law of Cosines can be used to solve a triangle when you're
given:

1_) Three sides: SSS

2.) Two sides and their included angle: SAS

Law of Cosines
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Use the Lgw of Cosines to solve each triangle.

¥ find larqest angle
-Firﬂ' j j

(g 7147 ye0”

— SinA = §(sinlles’)
b
A=22.09°




Notes 6.2 (1718) a1.notebook March 20, 2018

A=115° A |° °
h=15em 13
_ E
c=10cm 9_(0
=2 o\

C
A= b =2k CoY A
A = (5|0 -2¢SN)COS WD

a=21.26 cm SinllS™ sia B
2.2 T35
S(nB"lM

2(.26
B= 13975
a=4cm A:Z?.qf)o )
b=8cm - 49 46
¢=10cm - /08 2)°
2 2 L
o5 C=atb-c gty D25
20b oy - Yl
(= jop 2I°

SN /02/2—/0 j\'/‘ﬂ A

[ 7

Sin Az Y sinrof 21 ) )
—n A 1.2.%%




Notes 6.2 (1718) a1.notebook March 20, 2018

The pitcher's mound on a women's softball field is 43 feet from home plate and the
distance between the bases is 60 feet. (The pitcher's mound is not halfway
between home plate and second base.) How far is the pitcher's mound from first
base?

h'= 49400 245)60)cos 45°
W~ 1200-%3
h~ 42.45 {t

For each triangle shown below, determine whether you would
use the Law of Sines or Law of Cosines to find the value of x.
Then find the value of x to the nearest hundredth.
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